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���� �=
&�= E 1" T ���	�
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�
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����0�� (3����  

  
 �� 96 :����� D�)�H C*���  

 0�
� #��� 0�
� 9(� 	�G� ��!
� T
�
��2 .  
R�
�
 f��( /%.2 #����)  9(R�
    ��8�H�� 	�	��� 6	
�" 18
� 0�
�(    6	��
  C��2 	�U K��� T .     ?��R�2 :�
 �'�8	 #�� 

 *�H�� *
)!"switch off �= � '

 �
�� �� ?���G� 1� �.������ /�� � 03� �2 �= 
��(
��� 7H�)��  

    
��. ��
� ���
"superstate"   ������� ��� �= .         �R�
� �R= 1�R�
 �3 	�	��� 6	
�"
  6*
H""On"     *
)!" ��
� �2 "Of ." ��'�' �= 1��
 12 1��� T6*
H" ��
� �= 1��
 
���.

    ��.	)�� 0�
��� 1�" :*�	��"  T"*�	)( "  �2"*�	H� ."UML       f�'R
 C
�'R�� ��� �= 
 0
�
H
�� ���� "nesting"0�
��� :  
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 �� 97 :����0�� (3���� ��	
���� ���$ ���� C*���  

     ' T/%.2 !!���� �= K�2 I�%��      ��
� 7�" K��� 	��( �&"red "   
R&�2 7�" 	��� 	��2
   ��H�	
=�� ��
���–  � ��.   *��
    6*
H" ��
�"on"       	��G� 7�. K! H �
�' *�H�� 1Y= T

"Red."  

��
	 "�	�$/C��
  

           ��
��� 2� 
 
���. 
&.�3� ���!� #
$=2 ��2 �(	 ��)��� 1� 1��� 
�
��2 .  ��

�� 1���
��
A��  f�'�:  

  

  
 �� 98 :�4������ ��?� 	�� ��4��� ����+ ��	�� ��� C���� -�  
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 �� 99 : ������ �H ��
	�� ,� 
����� ��?� $	�� -��4–C��
�� 	�� 
����� ��?� =+���   

����M� "�	�$  

1���
��=            1�R$� *�	R�" 1`  �I�%� :H� 7�" �

�� 
���. ���)� 1��� /%.2 ���	
��
 /��2 ���!� .    �� 6	�)  ��� ! 	 
�����    0
��
$
�� � 0
�8
�collaboration .   ��
� 1
� ��"

   ��
R
�� 1���
�� ����
'� �
� T	�c 18
�� 
&�
'	" ��� ��
'	 12 1�H

 #��
��)  6��
R�� 
��	��� �2 #����� : 	�:(  

^18
���. �
&��)0
�!$�(  

^object.method (parameters)  

  
 �� 100 :�� 	�� �28:� !�� ������� 
$ ��� �� � 
��	������� ��  

  

  

  



 �����UML / ام  و ا�ا���������
�: �����   �����UML ا������ ������ �� 	��
 

142 

 

(���H	  

             1�$� !	� �� �
  �" ��
��� #��
 1
��B
  V�� K�2 7�. ��d� 12 �

�� 
�
��2 . C���
�
��

�
� 1�$ 	� 1�'�3 1�  !	��� :H� A��:  

  
 �� 101 : ���� ��� ������ -��4"Placed) "
�4��� ,)� �� ( !����� 	��� 
�� �*� 3� ����� 3

����	  

c������ (3��  

	��2                
R��$�� �R�
��� ;�	R
.� �
 ��" K�2 1���
 1��� T��.	)�� 0�
��� 7�" 6��$�
  T�
�I�)�� 7� 
 
&��. 0�
� �
�� ��
��� 1Y= T
��$�� ��
��� 9
�8
'� ��. K�Y= T
� ���	! .  

  ��

�� #
>��� ��`�� .       9�3�
 ��
� �= 2�  �8
�� C���
"pending ."     7R�" #�R�
� 
��
�
 ��
�"Being Actioned "��.	= 0�
� 6�. �= 1��� 12 1��� C���
�� TC���
�� f
= �
.  

        ��H��� �$��	� �
� 12 1��� ���	� �2 �= T
���. .     C���
�� C��$
 �
� �$��	��� #%�


3d� .              #R 3 
&�= 1
� �
�� ��
��� 1� C���
�� 9
�8
'� ��� T�$��	��� 1� *
&
��� #
�

�$��	���.  

 O�	

�� !�' �� ���	
��History)  9	�"H "6	8�� �= (��

�
� A��  
�� f�'�:  
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 �� 102 : ����c����  

������ (���
�� R�
$ (���	
���  

               T:R3���� �)= T18
��� ��
� : 

 �� 0
!!���� /�� 1� fH���� ;	��� 12 1� �U	�
 
  1���    ��
��� 0
!!�� ����
'�      0�
� 7�. V'd� �
I��� �= 	(�. �G .  :8
3� 
��	 2

����
'��)    K'R)� ���
'��� #�' ��" �" 
&�= *� �� 1��� � ����
'� �$3�� T%>� .(  7R
�
         0�
��� �'	 ����
'
  
&
���� 1��� �
I��� #�
� ��
�–        �R�)� ���R�� ��� 12 fH�� 

"���	��� 	
�$��� C�	= "���H�� :�	
���� �=.  

B
��  

��
��� #��
 0
!!�� �= 
�	I� T#()�� ��� �= .
��2	:  

• ���� ���(!!  
• ��.	)�� 0�
��� ���
'� 9��  
• ��	��� � #����� #
$=2  
• 0
.
=��� � #
'	B� ?���2  
• O�	

�� 0�
�  

����. 	��)
 0
���. 
 �
U ��!

 
&��� T��� �!�'  0�
��� �'	  

            *�R� �2 7R�. 
&����
R'� 1
��B
  1�� T0
�8
��� 7�. 
&

����
'� �I$� :  :8
R3�
O�" T�
I��� #�
� T����
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  ا����ل ������M: ��18 ا��

                1R� #
R�
��� �R���$  !��
 �
�� 
�
H��� ;$  1. ���
�' 	(
���� *���� ��� �=
    9���
�� 7�" �������)code .(         
=
� TA��� ��>�G� ;	$� 
=
� ��� ���
'�' �java  ��� 

7����� ���8
� �>��� ��� ��2 7�. 
&�� !
 ���&'  1��� � ��� �!�' .  

 "�	��)����7� (��(3�? �* Synchronising Artifacts  

               �R��� !� 7�. ������
  I
)
��� �� 9���
��  � ���(
�� �= ��'�8	�� #8
'��� <��"
9���
 1� K�>�� 
� :� 1���
�.  

9���
�� 1. ���(
�� #(= 7�" #��
 0
.�	���� ;$  . 1��
� ���
(
�� *
�  �
� ?�� 
	�� 9���
�� 1��� � T1��� 	�3 	 �`  ���
�����
(
�� A�
 1� ���c #���
 ����. � .  

              #R�d
 � *���� ;$  ���	� ���(
�� ��
�� 7�. *
� B� �
� T0
.�	���� ;$  �=
9���
�� ���	� 7�" ��8
&��� ���(
�� 0�	�	3 ;$ .  

           ������� 1. �	�>� �2 %��3 9���
�� 9	��� 
� 
 �
U T1�
�
��� 

�� �= .   <�(R
� 9��
�������� /�&�  

 ���� <��"        	�	�
 #�� <	�2 ���	� �=
H" T�� #�–   0������� ������ ���	�  .  
R��
                �R= 9R���
�� �R 

� #%� 
��
�
� �
 �
�� ���(
�� 0�	�	3 V�$
� ��
���� #��$
 �
�

C 
'�� 	�	�
�� .  

                                           

 *  ��������artifact :      �R���. # 3 1� 
&����
'� �2 T
&���$
 �2 T
&�

�" �
� �
�� ����$��� ��8�� ��

          ���$��� 
&�'� � 3�	�� �H	. 1��
� T6���� 
&�= ����d'��� ��
'� T���	  	��!
 . 1��
 �3 ��������
����	  �$!3 �2 T���>� �2 ����� �= 	(�. �2 
�����.  



 �����UML / ام  و ا�ا���������
�: �����   �����UML ا������ ������ �� 	��
 

145 

 

  
 �� 103 : ��H�)� ������� �H ��H	��� C*���–����7���   

        �
 :�
 
� T
 �
�= T#&'�� #��
  V�� K�2 TfH�� 6	� � 0�	�� .     ��� �= �H��� 1��� 1��
                  1R��� 	�	R�
 #R� �R��$
 12 
��
! � T
&
�� �= 6	�(3 0�	�	�
�� 0�
� 
��
! #���

K��. 6	!�'�� .�� 
'�� 6	
)�� #�! K��" 7$'� 
�� 
� ��� T��
&��� �= 1��!!  

   0���2 ;$ CASE)    ��'
��� 6�.
'�  0
���	 �� �'��� (     *��`R  f�'R
"  �R'���
��'�. "–      9���
�� 1� ���(
�� ����� ����
 �2 .       �������� ����. �= �.
'� �3 ���–  �= 

   	�	�
�� ��
&�1              ��R� #%� 1� #�$�� C�!�� �> T9���
�� 1� ������� ����
 6�
.Y  ���� T
     #�2 1� ������ ��������  	�	�
�2)   ����$�� 		�� � . (      �'��&�� ����
 12 T#���� ��� 1��

 ����
� 0'�� ��'�$��0
.�	���� #� �'
�
 � �3 
&�Y= ��� T�$ .  

=���� ��� �������� �����  

 ���(
�� ��)�( !!�� 1� �
`
 9�' 9���
�� �= ��)�(�� 0
)�	$
Design Class 

Diagram . P&�RR��� 0
RR)�	$
method 1�
RR$
�� 0
RR!!�� 1RR� 
RR&�I$� �
`RR
 
Collaboration Diagrams� 0
)�(�
 1� <	�2 0��.
'� �
`
 
�� T ����
'�� �$3�

)0�*
�>
'�� 0
�=�
 
(�(� T��=
HB� #�(
)
�� /#8�� �� (  �R�
��� 0
��'	 �State 

Charts) *
!�G� 4�3� !�	�� 0�
� : 

 #�2 1�.(  

9���
�� K��. �� � 12 1��� 9��� T��)�(� #
>� 
�� 
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 �� 104 :�2��)�< 
��8� ,� -����� ��� ��0��  

� �3 P

��� 9���
�� ��

�
� 1��)6	�
 � #���
 ����$ :(  

public class OrderLine 
{ 
   private int quantity; 
 
   public OrderLine(int qty, SKU product) 
   { 

      // constructor  TU>� 
   } 
   public double subtotal() 
   { 

      // method definition V->Wا @X1CY 
   } 
    
}  

 �� 105 :����� ��� =���� ��8�  

         J����� �=
H" �
 T/%.2 9���
�� �= K�2 I�%��constructor .       P&�R�  #
R��" �R

create()     ��)�(�� !!�� 1� )       �
�G� /�� 
�
. 
=	. �� � 
�� 0� (2 ��=(     ��R� ��R� T

9���
�� �= 
&
=
H".  



 �����UML / ام  و ا�ا���������
�: �����   �����UML ا������ ������ �� 	��
 

147 

 

  
 �� 106 :	���� ���	 � ������� ���$ 
�� ,�����  

   �!�� 	!' ��
��        6	
�B� /�� �=
H" ���� ��� T�� � 6	
�" 7�. ��     �R�$�	� ��R' �2 * 
reference attribute 9���
�� :  

public class OrderLine 
{ 
   public OrderLine(int qty, SKU product); 
   public float subtotal(); 
    
   private int quantity; 
   private SKU SKUOrdered; 
}  

 �� 107 :� ��� �H�) ��:���)G�)���� S�?� L2���� 
�� ����� ��(  

    <	�2 ��)�(� 0�	
�B� 1� ��8
�   I
)
�%� ��)�(�� 0�

�� �� ��
� .   �R���� #
R>���
	�G� 	!'2 � *�	��� 	���2 1�  �3%$�� �� ��&� . *�	��� 	�2"A�
�� " 
�� T	!'G
  ��8
3

 !!�� �=UML��

�� :  

                                           

*  ��$�	�� ��'��reference attribute  #>� 
�8��
 � 
.�� V�� T	�2 ��	� 18
� 7�" 	��
 ��' ��
  ��String    �3	 �2 TNumber    A�� 7�" 
� � T .           ��'R�� 1�R�
 6�
R. T���(R
�� ��)�( !!�� �=

���	( 
&��. ��� � � 
��H �=	$� ��$�	���) .��	
���(  
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 �� 108 : 5�� �� ��$��<� ���Z� ����+ D���  

       ���$� 0
 �!
� 7�. ��&� ��$)�� ��)�
��)          #R� T�R 
	� ��8
��� 1��
 12 ��� #� T%>�
   ����� T��&� *��G� �.	'(          ��
R
�� 9���
�� T�!�'  �=�)(�� �

�� 
��2 ;�	
=
  1�� T


�=
� 1���':  

public class PurchaseOrder 
{ 
   public float total(); 
    
   private date datePlaced; 
   private int  customerID; 
   private Vector OrderLineList; 
}  

 �� 109 :(��� M�� ����+ �H�)�  

       J����� ��&� 1� 1���' ��8
��� ��&�
constructor .        �2 
R=
�  1�R��	 � � 1R��
�'++ 4���� T :Vector     �=�)(� �!
'   �� array   T
&��� 	���
 6�
." 1��� �'�  � 

��!�� �=�)(� ����
'� �)�� �3 T0
 �!
���.  

 L4����� 	�	��Methods  

P&���� 0
)�	$
� 	 �G� 	�(��� �� 1�
$
�� !!�� �
&���� �2 method.  

 ��
��B� ��2 P&�� 9(� ��

�� #
>���"get total"*�	��� 	�G  .  :R�	� P&���� ���
	�G� ���  	!'2 �=
�� ���
��B� �)��
�� :  
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 �� 110 : 
��:�"Get total"�����M� *
$   

 1��
1  

� 7�'� P&�� 
���"getTotal()"*�	� 	�2 ��)�( �= :  

public double getTotal() 
{ 
    
}  

 �� 111 : 5��  ��$ ��0�� �H L2�� =��:�Purchase Order  

 1��
2 

	!' #� *
(�Y  ���
 1a� *�	��� 	�2 ��)�( 12 7�" 	��� 1�
$
�� !!��:  

public double getTotal() 
{ 
  double total; 
   for (int x=0; x<orderLineList.size();x++) 
   { 
      // extract the OrderLine from the list 
      theLine = (OrderLine)orderLineList.get(x); 
 
      total += theLine.getSubtotal(); 
   } 
   return total; 
}  

 �� 112 :��a� �:����� 5�� �� ��$ ���$ �� 5���K� -�����M� ��� ������ =����.  
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 1��
3  

 7�'� P&�� *
.�
'
  
��3"getSubtotal()"	�G� 	!' ��)�( �=  ./��)�
  ���� A��� .  

public double getSubtotal() 
{ 
   return quantity * SKUOrdered.getPrice(); 
}  

 �� 113 : *�0��getSubtotal()  

 1��
4  

   7�'� P&�� *
.�
'
  
��3"getPrice()" �� �� ��)�( �= SKU .    �
R
�� 
HR�2 ��R�
 ��(�(� ��'� ���3 :��	
  ���� 
!�'  
�&�� 1���' � T��)�
�private.  

=����� �7��� �����  

     ����� *
�  12 C ' 
��= 
���2packages 9�� 1�� T�
I��� 	
�$� �= 
�'
'2 
 �
� �$� 
��9���
 7�" 
&
��	
  ��.  

�H�� �?��  

         ����� �.�
 
&�Y= T
=
� ���  �
�
 0�� ��"packages  6	�
 � ���	!   .   #� T:3���� �=
    ����� : 

 
=
� �= ��)�( .            �R�2 �= 
=
�� ���� 12 ��� ��)�(�� 9�	$
 �= 	!' #�2

      ��)�(�� /�� :H� �
� ����)        ���� �= ��)�(�� :H� �
�' T��� #�
�
 �
 ��"  ��8� ��� ��
"default"���). .(  

    ��)�( 0�
� ��Y=SKU      7.�
 ���� �= :H�
' "Stock"       �R��

�� �'R��	
�� 1YR= T
����( 1��
' ��)�(��:  

package com.mycompany.stock; 
 
class SKU 
{ ... 

 �� 114 :�7� �H (��0���� ,)�  
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               �R�	�I���� 1R� 	R�c <�
'R� �=
HY  
=
� ���
 T��� 1� #H=2visibility   C�R= 
��!���� 0
�	�I���� :privateT public �  protected)���� � ����. T�(�(� .(

 �R����� ��
��  9	$� 
�  1��H
  
=
� ���
 package protection .   1R��� ?R�� 
              �R����� VR)� �R= �
�� 0
�)�(�� !�= 6	�I�� 1��

� ��)�(�� 9�	$
–     : !�
R  � 

    ��)�( #� #��� �
�� P�
���� . 	=�� ���       9R���
�� 6	�)� ��

�� 
�.� encapsulation 
 ����� #��� .           
R&���
 �R
�� ��R��� !�= ��8	� 0
�)�(�� #� #$� )   0
R&����� ��R.
facades (���
'� ���	!  ��.	)�� �I��� 	��!
 %$= 1��� ��&  � T.  

   ���( T9'g�syntax         
R� ��� 7�. �)�$H 
=
� �= ������ ��
��  .    �
R� 
&����R

	(
  �!
'   f�declare��)�(�� 0
)�	$
 1� 
�2 
&� '� 12 1��  ��)�(��  :privateT 

public �  protectedS #���� #>� 
�
�
 114.  

�� �?��++  

      �' �= ����
�� 	�
 � �.� ���� �++       *
�R'G� 0
3
!� ��&)� �=
H" �
 �	��2 1��  T
namespaces  ����� 7�"  .      �!�� 0
��'�
 �= 0
�)�(�� :H�  f�'�' ���   T ��()�� ��

       *
�'G� 0
3
!� 1�  *
�'G� ;	
$
 ��
)
�)          0
R3
!� 1R� 1�R�>� *
�R�" A��  
�����
 #>� T*
�'G�Stock � Orders 7�'
 ��)�( 7�. ���� 
�&�� #� TSKU.(  

               0
R�	�I���� 	 . ��
�� ��2 	=�� � I��� *�'� 1�� T����
�� �.��� ;$  �!$� ���
visibilities .    ��2 �= ��)�(�
=        �= �����$�� 0
�)�(�� #�� �
)��� 
&���� *
�'G� 0
3
!�

<	�2 *
�'2 0
3
!�.  

  

 �H (������� C*���UML  

         0
R������ �R!�	� ;	R. ������� ��� �= �
�components  �R��
��� " � �(R�� "
 0
���	 ��)����
�� !!�� �= 
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